A04034- DeVILBISS PUMP

Torque to
622 - 24 ft.-lbs.

Torque
19 to24-26

Torque ) ft.-lbs.

20 Torque to 150-165 in.-Ibs.
add sealant to threads

Available from Allparts Equipment and Accessories - 1-877-475-5660 - www.allpartsinc.com  April 2004


andrew.carlson
Typewritten Text
Available from Allparts Equipment and Accessories - 1-877-475-5660 - www.allpartsinc.com

http://www.allpartsinc.com

A04034 - DeVILBISS PUMP PARTS LIST

Key# Part # Description

1 D25054 Engine Shaft Couple

2 D25006 Screw, Set 5/16-24 x .478
4 * O-Ring, #25 DUROMETER
5 D21254 Journal Body Assembly

6 D25565 Screw, 5/16-18 x1.5

7 * Piston Assembly

8 A00755 Clamp Block End

9 D25566 Screw, 5/16-18 Gr 8

10 D27946 Shaft, Bearing

11 D20995 Strap, 2 Cylinder

12 A00756 Clamp Block Middle Strap
13 D21258 Ring Radial Assembly

14 D27944 Shaft, Counterweight

15 * O-Ring, Pump Head

17 A01527 Shaft, Bearing

18 D22684 Bolt, 7/16-14 Gr 8

19 D25567 Screw, 5/16-18 x 2.125 Gr 8
20 D24573 Hose, 3/8 x 12”

26 * Seal, 16mm

28 - Bearing included in Key#13
30 A03928 Unloader Kit

33 D20993 Spring, Easy Start

34 D21259 O-Ring

35 D21256 Seat, Easy Start

36 D20994 Ball, 5/16

37 * O-Ring, Valve Plug

38 D21141 Plug, Valve

39 * Valve Assembly

40 * Valve Assembly, 45° with o-ring
41 * Ring, Retaining

42 V161l Chemical Injector w/quick connect
43 HO061 Swivel Nut, Gardenhose
44 HO068 Swivel, 3/8”

45 F187 Screen, Gardenhose

* Kits available :

D28722 Valve Kit includes key Include key#'s 39 (qty 4), 40 (qty1), 41 (qty 1)
D23514 Seal Kit Include key#’s 4 (qty 2), 15 (qty2), 26 (qty 2), 37 (qty 1)
D23486 Piston Kit Includes key # 7 (qty 2)

General Information:
Pump Kit contains: HO61 garden hose swivel nut, HO68 3/8 NPT garden hose swivel, F187 screen,
V161 chemical injector with quick connect, D27152 screw (5/16-24 x3/4”), D25006 set screw
This pump does not use oil.

Available from Allparts Equipment and Accessories - 1-877-475-5660 - www.allpartsinc.com  April 2004


andrew.carlson
Typewritten Text
Available from Allparts Equipment and Accessories - 1-877-475-5660 - www.allpartsinc.com

http://www.allpartsinc.com

A01801- DeVILBISS PUMP REPAIR KIT

D28722 Valve Kit D23514 Seal Kit
contains Key#'s 39 (gty 4), 40 (gty 1), and 41 (qty 1) contains Key#s 4 (qty 2),
15 (qty 2), 26 (qty 2), and 37 (qtyl)

oen 23

D23486 Piston Kit
contains Key #s 7 (qty 2)

Fleall

Available from Allparts Equipment and Accessories - 1-877-475-5660 - www.allpartsinc.com  April 2004


andrew.carlson
Typewritten Text
Available from Allparts Equipment and Accessories - 1-877-475-5660 - www.allpartsinc.com

http://www.allpartsinc.com



